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25) 0.96 cp) 3 -R a-rTCJT cIT I 

43 



\J1l ~G1 , 

26) 

+ 
1.24 

5.32 

27) 

+ 
1 2.6 

34.7 

+ 
7.480 

0.865 

28) 

4.2 

3.1 

30) 9.84 

4.32 

31) 0.75 

0.56 

32) 23.2 

14.6 

44 



\ 

., 
<!J°1GlQ)(YI ~ ~ I 

33) 4.6 
X 3 

34) 8.32 
X 2 

35) 4.04 
X 6 

3-"11 J 1 Q) C1 $11 C1 "Cf5ir 1 

36) 2) 0.6 ( 

37) 6) 0.24 ( 

38) 7) 0.777 ( 

39) 2) 0.842 ( 

40) 5) 11.25 ( 

\4J 

45 



-qm 4l\J1~1 tfj~ I Cfj 1 
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'81"17 r>lI \Jc{;{m- :- 

3l. ~ it TTfUm fcllffl ct 1Jfu' \'i)ftr ~ ~ I 

~. fClmdl,~, 3ffi ~ ~ 3T1GC) ~I 

'fT. TTfUm ct ~ if qRRld ~ I 

~. ~ ~ ~, ~ ~, fcrtm" ~ q)f fc)q:)m ~ I 

~J7!C \Jc{;{~7J :- 

3L ~ C;~ll1<.'1Cl cpT ~ ct f.nr1 ~ ~ I 

~ ?flfflft :- ~. ~ ct ~, ~al ~ &m (~, '4Ffr) 

~ fclf?r :- ftI~l"\lC/)xOI -c;ct !>l~Hl~N fcrfu 

fffdfCI1/ :- 

1tie-Tq) - ~ cpT 311m LfAT ~ 'lRf ~ ~ ~ Tf<TI fc)J 'l"('l'ffi Tf fcp(AT LfAT 6' ? 

t9T?{ - 311m ~ '4'AT I 

ftm-TCP - 311m 'BPT cpT ~ Tf ~ ~ ~ ? 

t9T?{ - 1/2 

-.f ~re1cf) - 1/2 cpT C;~IYC'lCl ~ it ~ ~ ? 

1/2~~~1 
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1J! ~ :- ~f<IT cpT G~lliC'1Cl qft 3lCftTRUTT ~ 61 

fPf7r.tl 13C[i{~1l :- 

31. ~~ ~ -rt 3TcR Cfi1 ~'M CR ~ ~ m.1.RIT fc)Cf>fftd ~I 

El. ~t9ill. ~ill. ~TTU<lT qft 31~ ~TC'RT I 

i4fi/6C 13C[i{~1l :- 

31. ~~ qfurcf~ CR tr"*.r I 

El. ~~llWfCT Cfi1 ~ ~lFl "IN 11Wr CR ~.r I 

tm-JUT ~ :- 1}~<:lIH X1Jlilj) (Xii~-tf-fr. fcpc;rTlJTl1-lJTl1. ~) 

ftle-JUT ~ :- "f~T ~q' 1}~-;:fT-rox fcrfu 

Vfd/Ct<t/ :- 

ftT1!-TCP - ~ ~ -rt ~ ~ m ~? 
~T~ff - 100 ~ m ~I 
ft"Ta-TCP - ~ 3fq ~31T 5 tf~ -rt ~ ~ M? 

~T~ff - ~xT~m 

ftRTCP - ~ ~ 1) f<P<:r1 ~tl4k ~ 5TR ~? 

~T~ff - 100 xl c"p:jl c '< m t I 

ftTe-TCP - ~ xl c~ 41 c,< cpT ~ -rt i'4 G C'l Cf> X El(fT31T? 

~T~ff - ~xT~m 

ft"T1!-TCP - ~ ~TlJTl1 -rt ~ lJTl1 m ~? 
~T~ff - 1000 lJFf m ~ I 

ftTe-TCP - 1000 lJFf cpT PcPC'fllJFf -B 6lG"C'fCR Elill311? 

~T~ff - ~xT~m 

~Ta-TCP cp~R - 31M ~ ~ ~ qRCld"1 cf> m -q 31t:J:l<l'l ~ I 
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Tf!I WR :- rcm-rrum cpT ~T \1ft? ~ 31CftTRUTT ~ t I 

'HJ.f7~ \Tc[;{~lJ :- 

31. ~~Cf) utTCA -q ~~<lT31T Cf))' ~TruoT it \1ft? x::r~ ~ <lP<l(fT ~ 
Cf)x"";fT I 

61 . I'lftll(f ct ~fcr 'flfucl '\Jc{Fl ~ I 

FcJfire \:r~;{ ~lJ : - 

31. ~cc.<:TT31T cpT ~flU"ill it \1ft? cnx ~Tr I 

61. ~~q CfJT ~ ~TR LR ~<lTrr CR' ~Tr I 

~JW7T ffTlTlft :- ~61TCf>'ff, ~(:<le-T x::rll1lft &'ffi ('JCct) 

fWe-rur ~ - ftl re1 ($x 0 1 ~ct ~~~ fcl'fu I 

ftT~TCfJ - 2.4 3l'R 2.4 CfJT <1111 qJ (>1 ~ iITrrr? 

~T~ff - ~X"T(-m 
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'it "$fFf :- fcr£:lTf~ c:pT "ffltmUT "(TeA ctT 3lcrt:rRUlT ~ t I 
ffJlI;;(J ~ct~<l :- 

3l. tlrrQ) vfiq.:r l1 "ffx::.~T3lT Q)T ~~ ~ "(TeT ~ cBl 1IT'<lm RlCf>R=t('1 
Q)~~T I 

~ . 'lfUl(f cF "';l~ fcruT~TT l1 ~ vfPT('1 ~T I 

~J15C \Tcfct~ :- 

3l. "ff~T3lT Q)T ~ft u (11 ~ "EfCTCT ~ ~<T I 

~. ~~ Q)T ~ ~ 1:R "';l<lPT CR" ~.r I 

fire-rur WJ777ft :- ~~TCf)f{, "';lC'<le-T ~ 

fkrur FcrfW :- ~T ~ct ~-;:ffi.(R fcrft:r 

ftTe-IQ) - ~ "(rcA ~ x=r=m 6it ~ 3lR ~ ~ 6'7 

~T~ff - crt<) 3lR ~ I 

ftTe-IQ) - 10 it ~ 5 ~ 1:R ~T ~ ~7 

fcruT~ff - 5 ~~ 

ftTe-IQ) - 2.4 it ~ 1.2 ~ 1:R m ~ ~7 
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t/J.fI""4 \Tcfct~([ :- 

31. t~cp vfiCA" "If ~~T31T Cj)T ~fiuClT ~ lJuTT m -$T <lP<lClT Rl Cf) ~ (1 
cpx~T I 
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31'. TTfUTc:r cf> lJfcr ~ ~ ~ I 

5f. TTfUTc:r ~ ~ ~ ~ \i q £1'1 prl (j 1 5fOFfT I 

f4filce \:Jc(ct~ :- 

31'. ~~P:klq ~ ~ ~ ~ Cf)X ~ I 
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ftre:rcp - 12.6 .•. 2 ~ LR ~ 3lTWrr? 

~ - f.1xlrox 

~cp~ - m~ ~~lliC1q ~~~~~~~~ 
t<l6'. <rg ~I 

QlliC1Q ~ ~ 0.6 + 2 

fcR:f ~ ~ ~ ~ ~? 

fcR:f ~ ~ ~~? 

\J15f~~~~ 

~m~~*Wffi 

~ 0.6 

~2 

57 



~ctT~Q»~~ 

"fITCl'RUT ~ ctT ~ ~ ~ 

-gl 

~~cFFr~t? 

~ ~ S3IT7 

qlliC"lCl cfi 6fTG 3 ~'<sFll t? 

58 

~6 

~3 
0.3 

2 )0 .6 
o . 6 

o 

~o 



[J-lfi3 

1. 0.5 21. 2.2 

2. 0.08 22. 8.4 

3. 0.17 23 10.8 

4. 0.51 24 0.07 

5. 0.762 25 0.32 

6. 7.20 f)q;ql 26 6.56 

7. 12.05 f)q;q I 27 47.3 

8. 10.430 FcP. 1Tr1 28 8.345 

9. 4.750 FcP. 1Tr1 29 1.1 

10. 5.05~ 30 5.52 

11. 12~ 31 0.19 

12. 0.8 32 8.6 

13 0.33 33 13.8 

14 0.5 34 16.64 

15 5.0 35 24.24 

16 0 36 0.3 

17 8.8 37 0.04 

18 0.2 38 0.111 

19 2.1 39 0.421 

20. 4.6 2.25 

59 


